R2031D £& ;R HA

EREE:
1 HAREUTHIIE4BERL NEED, FERE KA.
2. FRERERERSA.

HEEHA- REmini PCl-e SSD #R2031DE#E

mini PCl-e SSD#E &

(1)M2x6mm(H) #&# *3pcs w
P/N: 13MISW00001M11

(2)& 284 /H: 4.0mm *3pcs

P/N: 13MICA00001M05 ef
(3)M212 18 *3pcs
P/N: 13MINU00001M11 %

REEHERSHE-— RER

B2

S EERBN Y E, ZZEmini PCl-e SSDREE A& IR FL1,

WHE(A-1)M2x6mmK(A-2)& SR AEREEF £
(B L E])o

: FAEHImini PCl-e SSD, #$mini PCl-e SSD # T &,

fEmini PCl-eSSDHY & & 7L ¥ % M $f 1% 7L(W0 B 5 $R2) .o

: fEFA(A-3)M2R 18 #mini PCl-e SSDEIE AEEF £

(T B HHR3),

cEEFERIER (SATA 228 I8 k) R K EEF

HER(B-1)2.5" EART , EA(B-2)M2x3mmiR i
HEFENREEWELSRI)ETRAEDE.

HEEMN2 - REBEFE 2.5"SSD AR

(B-1)2.5" $RE 4N 5} *1pc
P/N: 13MI2100001M25

(B-2)M2x3 2 #4*5pcs
P/N: 13MISWO00005M11 .“

M2x3 1R S It — N BB A




R2031D Assembly Guide

Before Assembling:

1.Please check all accessories as below. If there is any shortage,
please contact y local distributor.
2.Please read assembly guide carefully

Accessory Pack (A) — mini PCl-e SSD on adpter

mini PCl-e SSD assembly guide

(A-1)M2x6mm(H) screw *3pcs “
P/N: 13MISWO00003M11

(A-2)cooper alloy /H: 1.6mm *3pcs w
P/N: 13MICA00001M05

(A-3)M2nut *3pcs %
P/N: 13MINU00001M11

The above accessories parts are all have extra 1pc for spare part.

Step 1: Screw (A-1) M2x6mm & (A-2) copper alloy on the suitable
holes (half/custom/full size ) for your mini PCl-e SSD module
as picture (1).

Step 2: Insert your mini PCl-e SSD module to mini PCl-e connector.
Press down SDD module as picture (2)

Step 3: Screw SSD module with (A-3) M2 Nut to fix on adapter
as picture (3).

Step 4: Upturn top side of adapter. Assembly adapter into (B-1)
2.5” SSD aluminum housing with 4pcs of (B-2) M2x3 screw

to fix as picture (4).

Accessory Pack (B) —assembly adapter on 2.5” SSD housing

(B-1)2.5” Aluminum Housing *1pc
P/N: 13MI2100001M25

(B-2)M2x3 screw *5pcs '“
P/N: 13MISWO00005M11

M2x3 screw have extra 1pc for spare part.







	頁面 1
	頁面 2
	頁面 3

